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Depee = 2.0 um?/s;
Dgounp = 0.001 um?/s;
Faouno = 75%;
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Feouno = 40%;
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Degee = 10.0 um?/s;

Dgounp = 0.001 um?/s;

Feouno = 10%;

Drpee = 13.0 um?/s;
Dgounp = 0.001 um?/s;
Fsounp = 55%;
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simulation parameters:

-10 0 10
Ospoton = Oraue (NM)

-10 0 10
Ospot-on = Oraue (NM)

Drpee = 2.0 um?/s; Feounp = 75%;
Drpee = 2.5 um?/s; Faounn = 40%;
Free = 3.5 UMP/S; Faouno = 70%;
Depee = 6.0 um?/s; Fgounp = 5%;
Drpee = 10.0 um?/s; Faouno = 10%;
Depee = 13.0 um?/s; Fgounp = 55%;

error (Usporon - Orrue) Statistics
bias (nm): std: iqr:
0.42 0.34 0.58
1.39 0.91 1.12
0.61 0.40 0.54
5.75 3.79 6.02
3.52 1.67 2.54
0.73 0.31 0.26
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